A3 / Section-A

HAR® [T / Mental Ability
T RA W oafmeE AR RS R 1. Choose the correct option from the followin,
Pt Reat 4 % 78 Ree T - options for the Assertion ‘A" and Reason ‘R
: given below -
FREU A RE # AT A0 iRy Assertion *A’:  In India people elect their
k&L f_Fl'?l & own representatives,
BRI ‘R R Q6 e 39 Reason ‘R*; India is a democratic
21 country,

(A) "“‘ IR R DN W # ‘R', (A) Both ‘A" and ‘R’ are true and ‘R’ js

A’ B HE amey 2 the correct explanation of ‘A"
@) AR R 2w 8 fF=g *R", (B) Both ‘A" and 'R" are true but ‘R’ is not

AT A ameEn T R the correct explanation of *A".
© “A'# 2 Preg R e 2 (C) “A’is true but "R" is false.
D) A 7em ¢ 51 'R w8 & (M) A’ is false but *R" is true.
Py w2 9 5) - Direction (Q. No. 2 t0 5) -
IfE R ARG (E I The only dark cloud in the economic horizon
WA F a1 & allv ow gwite o is the rather unsatisfactory foreign exchange
o ER &y g IS Prafg 4 arrers and one may hope that the industry will play
THT 59 TR F 3 ayfiyey Prmrm | its role in improving it by contributing 10 its
EIR T 90 aeedt wly ard & e export. The all round progress of our company
T g LeE R o o] 7 9 g is conlinuing. | am happy to report that during
W AR (rde-Rrre, 2023) & &y the current year (April-Sept., 2023) there has
BTHFT 1 TR g | been further improvement in its warking,
TS @Y w?ﬁ T2 R wet TR Rend. the passape carefully and snswer the
TER & — questions as -
M e I Rifrga oy | W 2 (M Ifthe inference is definitely true.
(i  ufe IR E: ey 2 (If)  Tf the inference is prubably trye,
() af e ammia &) (I If the data are inadequte,
(V) @f s wva: arge ¥ (IV) I the inference js probably false,
T W e fefm = 3) W, 2024 Wt 2, The current financjal ye :
ikl ol ) end on 31" March, 1n};;4af ohe company wil
(A) | (B) 1M (A) 1 (B) 1M
78 e 4 e o v Py 5, 2O "y

TER T =S 3. The Government of the
T & ol @ & - company to expon its g.;iiinfry has asked the
(A) 1 (B) I (A) ®) 11
(Cy IV (D) m () v m 1y
2 P 9y svaia B ver & - 4. The country is having ;
(A 1l B) 1 exchange reserves - & "adequate fnmign
(C) 1 o v Eg; HI ") |

Il
et F et wdt gR1 AR s A s, In foreign countrieg |hEE.D.; v
T T 98 & - products mmuf“‘""ed hE is ng Mand fo
A) I ® n Y @) @y Compgy
(C) m M v’ T (C) m :n; :L
‘ t% MOU-II-B Page 3 of 32 \
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| 6. TP W B A, B,CTT D § mwer
T 34:9:10 D U ¥ fafra R Wi )
I D o1 R A & R 9 36122 afds
% M AT D ENT TS W WA oI
o Brfie

(A) 65683 (B) 67083

(C) 62283 (D) 60283
7. FefaRe v o scrafer @ ¥ aga
fasar T | SNy R @Y grataRed v
T & IaT T 2 3R e 1 st A
{ afxH orR @ fafea & 2; regafem

NS
“ATHRE”

A H B) R

(C) E D) A
e ffRaa @e W 4, ‘RICKSHAW &I
“TLENUKCZ' & &9 ¥ Tieag f&ar o g1
St AT § ‘BATTERY' @1 3% qcds fbar
TRAT?

(A) DDVWGUA
(B) CDWVUGA
(C) DCVVGUA ‘ :
(D) CDWUVAG

RN IEA SRS —

(i) P+Q@r3rf ¥ P,Q&T deT &I
(i) P-Q®1arf? P, QT TSN Tl
(i) PxQ@l arf & P,QT WE I
Gv) P:Q@reRf TP, QP A I
vy P=QT3f ¥ P,Q @ I& Bl
“A x B = C” & & 30f &7

(A) ABIFTHEE

®) ACHRWE

(C) ACHIAME

) A,Ca®I

e
T (52.36)°="?
(A) 1,29,600
(B) 1,383850
. (C) 143,550
. (D) 1,65790

ﬁmﬁr@ﬁaﬁmaﬁmﬁqﬁaméa&m:ﬂ% 9.

.Aﬁgﬁﬁ@mmwﬁﬂmw 10.

A sum of money is divided among A, B, C;
D in the ratio of 3:4:9:10 respectively. If sh
of D is ¥ 3612 more than A, what is the t
amount of money received by A and

together?
(A) 6568 (B) %6708
(C) 6228 (D) 36028

The following word is presented in

disarranged way. You are to find out the wo
by rearranging the letters and mark the la
letter from given altem_’aﬁves; the disarrange

word is -

“ATHRE”
(A) H B) R
(© E - D) A

In a certain code language, ‘RICKSHAW” |
coded as ‘TLENUKCZ’. How is ‘BATTERY
coded in that code language?

(A) - DDVWGUA
(B) CDWVUGA
(C) DCVVGUA _
(D) CDWUVAG
Read the following information carefully and
answer the question given below -
@) P+Q means P is the son of Q
(i) P—-Q means P is the wife of Q
(iii) PxQ means P is the brother of Q
(iv) P=Q means P is the motherof Q .=
(v)  P=Q means P is the sister of Q
What does “A:x B = C” means?
(A) A is the brother of B
(B) A.is the fatherof C :
(C) A is the maternal uncle of C-
(D) Aisthe nephew of C |

‘What will be the approximate value of giirqu
question? '
(52.36)°=7?
(A) 1,29,600
(B) 1,38,850
(C) 1,443,550
D). 1,65,790

MOU-II-B

Page 4 of 32



O S S S Y &/ . mal et T

1. 3¢ 1998 &7 v R TR o | a¥ 2001 @1 11 The first day of the year 1998 was Thurs;l;ay-
< R P g - Which will be the last day of the year 2001
(A) TR B) faar (A) Tuesday (B) Sunday
4 (©) ;[mw LI LEL . (C) Monday (D) Saturday
2. T A UG U ¥ Forer wrdf o ¥ 30§ 12, Inarowof men Sujal is 30" from the right and
WM R & AR T ¢ ek ¥ 208 e Garvit is 20" from left. When they interchange
W E T A SO WER W qged & their position; Sujal becomes 35" from the
mﬁaaﬁﬁmﬁ 35%r.®-1|‘1 W B’I%GHHT 2l right. What is the total number of men in the
; B HE fea 87 row?
| (A) 44 ‘B) 34 A) 4 (B) 34
| (C) 54 D) 45 (o) 54 BN ()T Rt
,‘ 13. E‘:T_m‘ Wiaﬁ BT uRem ) W W A Y 13.  Introducing a person, Shyamlal said, the only
| &’J.ﬁlil Ll SW‘THT RE! imﬁm-r 1K son of that person is my father. What is the
WM AT Ud I9 gl T HEe 27 relationship between Shyamlal and that
. (A) =g 21 person?
f' (B). - fom (A) Brother
i‘ ©) g3 (B) Father’
| (D) =Tr=T (C) Son
| . (D) Grand Fath
L 14 A oy s ARw - 14.  Find out thg od?I ofilc;, -
i 275, 396, 385, 891, 932 . 275,396, 385, 891,932 .
(A) 891 B) 385 (A) 891 (B) 385
(©) 39 D) 932 : 1 (C) 396 (D) 932
15. &l Q@ & — 15. Complete the series - &
1ZA, 3YB, 6XC, 10WD,........7 1ZA,3YB, 6XC, 10WD,.....1..7
(A) 14VE (B) 15UE " (A) 14VE, (B) ‘15UE "
(C) I5VE M I2VE -~ . (O 15VE - (D) 12VE ¥,
16. = d 9 faws @1 gg=nf — . 16. Identify the odd out from the following -
(A) BNNAAA (B) OAGRNE ' (A) BNNAAA  ""(B). OAGRNE
(C) GAERPS (D) ISIEAMN =, (C) GAERPS . (D) ISIEAMN
17. - g« 91 9 Do — i) 17..: Find out the missing valde - y
11 :22 ;1133408 Lt A ' S AL 22 B3 2oz, |
(A) 118 o .®B) 1200 @A) 18- - ®B) 120 (
(C) 78 : D) 66 | © 78 ... (D) 66
18. U= gﬁg THh iﬂiﬂﬂ; ?ﬂ? g% %\;\: E,A 18. - Five books are kept on each other. E is above
& SR P, C,BD | A BD FWR - L A \);
’ oy 2 ,C b B
2R D.Co 4 2 o A W o AN A lS elow}? IfA.ls‘?bov_eBanlesbelow
87 iyt o C, th_en'wh'ich book is at the top? /
A) ATES (B) ETEd i (A)" A Book B) EBook
(C) Bgm&s . (D) DI .+ (O BBook /(D) DBook
19/ ggagds o ARE — . 19.  Calculate correctly -
1148:28x1408:32 =7 S, 1148:28x1408:32 = 7 |
(A) 1800 (B) 1804 (A). 1800 - (B) 1804
() 1814 (D) 1822 (©) 1814 . ‘(D) 1822,
-_Page 50f32
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22,

23.

25,

26.

27.

2 % " MOU-ILR

TN q 20

o e e Wt # Sl 4
%ﬁlogsﬁ.\,mﬁyga,—rs‘mﬁmﬁﬁw
awﬁ:ﬁﬁ:4ﬂﬁa%?
(4) 10 ® 11
© 19 @) <10
;ﬁqamfﬁrﬁm— 21.
m;‘{[@::ﬁ"\qﬁﬁl? ! -
(A) ST ®) fwres g
(C) T (D) A et
BrAl B U P H NUg B ¥F g6 A adl 22,

3 MY W 28 ¥, 1 wem # HaA frary
BT 87

(A) 34 (B) 35
© 36 D) 40
fer=ifeRaa et A feeh TH@T%? 23.
(A) 20 B) 24
© 28 ®) 32

UK g 26, 3-Rarw 4R
5-Rem- s

(A) 4,1,52,3/ e

® 13524 &

(©) 4,1,3,5,2

M) 3,51,2,4

U G’ aiR ‘S’%mﬁaﬁwa&v 25,,
T &7 4
(AY™M B) N . \l_\.f\
© o S @ P s

el T q Raw o &) gfif oy O 26.
ACF:GIL::MOR:? '
(A) SUX B) TUX

©) Uwz ), svy~

R W et ¥ aﬂg?ﬁfﬂ%@ﬁ 27.

T ST BN —

 tenth digit or both incy,

(A) SUX

How many numberg
which are divisible 4

de 47 .
(A) 10 ®) 1

© 19 D) <10
Find out the mlssmg term -

Fire : Ashes :: Explosiop : 9
(A) Sound g’

(C) Debris Eg; g’;ﬂ‘f“ﬂ
In a class of students, Raghav S rank is gth

beginning and 28" frop,
students are there in the class?
(A) 34 (B) 35
(©) 36 D) 40
What is the number of triangles in the
following?

from
last. How many

(A). 20 B) 24

(© 28 D) 32
Arrange all following words in proper
sequence -
Words: 1-Child ,2-Job 3-Marnage 4-Infant

5-Education

(A) 4,1,5,2,3

B) 1,3,5,2,4 )

© 4,1,3,5,2

D) 3,5,1,2,4

‘Which letter comes halfway between ‘G and

‘S’ in the alphabet?
(A)- M B) N
) o . (D): P
Fill up the blank space properly -
ACF: GIL :: MOR : ?
(B) TUX

(C)  UWZ D) SVY

. Find the missing number ' of figure from lh" ‘

below options. \

» !
14 13 14 /13 i £
16 17 | 16 Y |
(A) 400 B) 458 (A) 400 B) 458 i
(C) 456 (D) 440 (C) 456 (D) 440 //.’

Page 6 of 32
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Mmﬁmwﬁr af> TRIPPLE @7 37f  28.

In a certain sign language, TRIPPLE means

28.
DMOQHSS 2, @T S 771 # VICTORY B DMOQHSS, then what will be VICTORY in
7 aref g the same language?
(A) UJBUNSX (A), UIBUNSX
(B) ZXPSDHW ~(B) ZXPSDHW,
' (C) XSNUBJU (€) XSNUBJU
| (D) WHDSPQZ (D) WHDSPQZ
29, frfafaw # W fra Gﬂ?—an'cpﬁr ERT \c' 29 * Which of the following answer figure
I3 @ ?rcﬁ g? (L SRR PR AR f'complete the questlon figure?, n - (1}
P e o : . - \
P SN [0 ey 1 A 1
. = 1% "_\\.,' i ;
b D7 N ) ‘ { o
@ [~ R e RS I o Bt Pl ®) [, °
¢ . L 1 ) ° ¥ i I ‘ o : b N
©) [+ @) [ o © [=e: D) [ o o
30. et e ¥ e @ Y6 SR '@f RilGE] aﬂ? - 30. Dlmple s, rank in her ‘class is 7" from the top
: | TR ®, a‘r el ﬁ B ﬁiﬁe{ - “and’ 27" from the bottom. So how many
Remeff 272 - ¥} E students are there in the class?
(A) 33 (B) 34' (A), 33 (B) 34
| ©). 32 ‘D) '35 (C) 32 ‘) '35
31. ﬁﬁrﬁﬁqﬁ 7 A ER STCF By Hﬁﬁﬁll 31. Find the missing character in the following
e ~ question.
(A) 24 . (B) 62 (A) 24 - B) - 62
(C) 36 D) 44 Yo (C) 36 . D) 44
32, TP o o uS B gsm fﬂv—d"ﬁ Eﬂ'\’ 13{51’ Eﬂ’rﬁ 32. How many times  do the- hands of a clock
(A ‘p L | ¢oincide maday? ; :
(A) 24 ®) 22 3 @ 24 # ®B) 22
©) 21 - D) 20 bl (C) 21 (= D) 20
33. ' 100 ek 300 B &9 o =AY 2% w33, How many numbexs between 100 and 300 start *
e e B 87 and end with 27 . A :
(A) 100 ®) 110" (A) 100 (B) 110
(C) 120 (D). 140 ° (C) 120 % D) 140 4

tﬁ MOU-ILB
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\:7{ g T T HR — | 34,
47x38=8374, 53x16=6135, 20x92= ....... ?
} (A) 1840 B) 2902 .
(C) 9220 D) 2929/ L

- R, 1984@%?3@@@@211?11@1 3s.

* Find the missing number -

47x38=8374, 53x16=6135, 20x92=....... ?
(A) 1840 B) 2902
© 9220 D) 2920

On what dates of December, 1984 did Sunday

oIT? fall?
(A) 2,9, 16,23,30 \ A) 2,9, 16,23,30
B) 3,10,17, 24,31 V. N B) 3,10,17,24,31
(©) 6,13,20,27 s \L " (0 6,13,20,27
D) 1,8,15,22,29 L (D) 1,8,15,22,29
36. AR fawetl § | TP AP B =TT Y, ﬁrrﬁqﬂu / Select a figure from' the four alternatives
: Raa v+ & 'ﬂéﬁ R e w1 B GITI]TTI - which when placed in the blank space would
A .. fomplete the pattern -
; 2y
o N i Al b
> o v
I @7@%\““ a|D
v
? v ' ? |[%
(A) B) . - (A) B) 7
: D 14 AN 14
D N (RN 1D 4.
O) D) . C
©) A <J ( )- A ,,(D) N
< pE g <
37. U®H A1eHY 28 Wiex IR DI AR AT 98 3 37. A man walked 28 meter towards North. Now
g 3R JST 3R 11 AIeR 9l1] 98 UFh IR he turned right and walked 11 meter. He once
e ¥ e T IR 12 HeR a1 'S99 918 again turned right and walked 12 meter. After
qg 913 3R qST AR 23 HAiex =ar| amed) J.- this he. turned left and walked 23 meter. In
arq fora fRen & 9= @sr 87 which direction is the man standing now?
A T .(B) uR=w (A)  East (B) West
4 (O ST D) <feror ~(©) North (D) South
35/ 3y R I ’Ef m‘la%‘ll '\’ﬂ?ﬂ formr? ~ 38.  Which number will you write in blank space?
16 | [ 25 ? 43 16 113 L N B
256 625 1156.] | 1849 256 625 | | 1156 1849
(A) 37 B) 36 Ay 37 B) 36
(C) 35 D) 34 e © 35 D) 34
\}9' 1 sfet 1 ot a;ns.a i (- 39.. Complete the fo]lbwihg series -
A 24,12, A7,22, e ? 2,;7,12;, 17, 22,9 ... 2
(4) i ® 17 A) 7
: : @) 17
Q 27 (D) 37 ®) 37

©) 27

@ MOU-II-B
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A) s5feq
(B) 72&?
©) 10few
D s5ife

41 BY U BT v e

. R T 1 3 i

ST B E | g A 1 v o

qﬂﬂﬁvﬁaﬁmw 42,

42 44 38
23 | 55| 28
37 9 39
(4) 11 B) 22
2. F=faRaa smefy 4
14
(A) 5
© 8 D)., 10,

43, frefaraa spfr # o e et g

(A) 9

o © 12
44, P fam H TS BT
) gy &7

(A) 22

(C) 24

ggat feel g wEIT 44,

® 10
®. 7

(B) 44
D) 48

do the work in 15 days and C and A can do the
work in 20 days. If A, B and C work together,
they will complete the work in how many

days?

(A) 5days

®) 72 days

* (C) 10 days
MD)" 5 g days

j\_/40a Aaﬁ?meaﬁlzﬁ?ﬁﬁmﬁ 40. A and B can do a work in 12 days, B and C can
. BIRCSUSH B 15RT v wwy ¥

IR Ca A v w1 B 20 R F 7% Ty
F1afk A, BT CHAMl o ot e &
WA B P Ry R g7 e

tin

41, A ‘matrix of certain character is given. These
characters follow a certain trend, row wise and
«.column wise. Find out missing character.

42 | 44 | 38
23 [ 55| 28
37 | ? 39
A) 11 B) 22
€ 33 D) 44

What is the number of pentagons in the'

following figure?
0f PR i i rf:z’;";",';‘:. e it M Be 3 LA
1 R (AY ST e )
‘ © 8 . ... M 10
43. How many total triangles, are there in" {
following figure? :

© 12

(A) 22
(C) 24

.

®) 10
®) 7

How many times are hands of a clock at right
angle in a day? '

B) 44
D) 48

t% MOU-II-B
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45.

46.

4

47.

49,

afz B GO SR T TR 45,000 2, of
Fom A 15% 3 =0 A I, 9@ g
a3 F |

(Ay 41420 (B) 40250

(C) 38,250 (D) 39350

zfe e i8R # drrr Re wmer £ @
frefafaa 4 @ o 9 Wl @ 218

e @ uiadl R gme d..uf"-‘*'

(A) TWaER e

. o

(B) TeAR "
© gmmr 7 -.

(D) AR v
Fr=ifefaa simer % amran v sma AfRmA-
Hae: 8,9, 11,14, 18,23.......7

(A) 28 (B) 30

(€ 29 (D) 31

TR T &1 e e, fer w1 wae
@ Herer “HT 8, o Pt 4 @ e
& YA w0 SR AT w1 fm?

(A) oWz
(C) =

(D) i &

47,

48,

¥
(By & /\fﬁ:

T & UrH UF w500 fe o 9wy 49,

Rt ®1 25 aem—ara &3 & arer, uaw

&R ¥ Rt A wem v off, vie v d
e Ryas o2 '

Ay 12 (B) 20
(C) 45 (D) 25
50. wv fas & e v @ 2R iy 50.

13 INC 2
3 QRG 7
4 | DOM 8

7 SUI 7 S
8 AD? 9
(M K
D)y M

If the value of an old car is T 45.000.
price is decreased by 15%. Find th
price.

(A) 41420 (B) 40,250
(C) 38,250 (D) 39,350

If the third day of a month is Monday
which day of the following will be the fil
from 21" of the month?

(A) Monday

(B)
(C)
(D)

Tuesday
Wednesday
Friday

Find the next term in the following serie:
Serles: 8,9, 11, 14, 18,23,........7
(A) 28 (B) 30
(C) 29 (D) 31
Il *Green™ means “Yellow”, “Yellow™ r
“White", “White” means “Red”, “Red™ n
“Violet”, then which of the following be ¢
of human blood?
(A) White
(C) Green

“{B) Red
(D) Violat

Laxman had 500 Coins in a jar. He sorte
coins into 25 different stacks. Each stack
the same number of coins. How many ¢

. 'Was in each stack?

(A) 12
(C) 45

(B) 20
(D) 25

Which letter replaces the question mark?
13 INC 2

6 QRG
4 DBOM
7 SuUl

8 AD?

b2 | =d] af =

(A) I
(Cy L

;) K
m M

Papge 10 of 32




T4 / Section-B

R siferran Td SRy / Teacher Aptitude and Attitude

51. AT IFal 7 a9 YA g 51,
wh % fal ommme w1 @@ AW
wfea = on -
(A) o & dfgs = W) A
(B) uirgw & wiafrs gl W B
(C) ofim & rrrfrﬁm Tl W (©)
(D) A & Todis geal ) )
52. ya.AdUn. (STEM) grausms aar 87
(A) wmEd, Felien, To@TE [US (A)
fremfean -
(B) wgH, TEERN, FunimaRT gus (m
e
(C) INgw. TN, SaegUeE UUE (C)
i
(D) ufmEEch  ewEel,  wsgen (D)
vog Hemfean
53, s FERl @ oFAR, I @ Wiy wEis 53,
sugen Al e - s
(A) wm B wr i frde e A
(B) oB T D TR WA (1)
(C) fi & wmy AT A Bt
(D) @Hﬁﬁﬂ#ﬂtﬁhﬁﬁwam "".- :E]
fl
54, AR W E - 54.
(A) Hgel  =fiee @ wfom @ (A)
qorre |
(B) TrRiTar] W1 @ _ (B)
(C) I TrRTE gd  HEERE
T | ' (C)
(@) dwem SeEer Reafer § M)
cs. Fhwrs @ i A € i — 55.
(A) EHTE (A}
(B) sl (B)
() fERt @ weal (C)
() wEyn Wit @ AR ()

To maintain and foster harmonious social
refationship, the teacher should lay emphasis

Intellectual values of life
Emotional valves of life
Bodily values of life
Democratic values of life

52,  Whatis STEM curriculum?

Science, Technology, Education &
Mathematics
Science, Technology, Engineering &
Mathematics
Science, Technology, Evaluation &

Mathemalics

Sociology, Technology, Education &
Matheinatics '

According to your view, the most appropriate
attitude towards society is -

nol to have any special relation with
people.

to have relation with some people
only.

(o have relation with all in general.

to have relation only with one’s own
reliable people.

Mental health is -

balanced working of u:nmplei_:
personality.
symptoms of adjustment.

basic social and cognitive skills,

state of intense excitement,

Ti: Mhﬂlﬂ I.‘ﬂ]lll'l'l'l.lnimljﬂ“ musl hav: N

Exciternent
Unconsciousness

Clarity of thoughts

Desire to achieye Purpose

Page 11 0f 32
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aads @ B9 W, B 56, If you, as a teacher, are unable to give any

afy am WP T X
arntd Rl I w3 A e, answer in the class, then you -
am = STHETH ' (A) will reply after getting the
() wh [ ATSI-HY, e information.
. :?::7; o e W e (B) will say that the question itself is
GT:T iy | wrong.
(€) _ TEPT B w9 H (C) will give that question as home-
(D) @& A € SH IR T T AU work.
N | (D) will try to answer it in class itself.
57. faemera &1 AW e S @ - 57.  The leader of the school is -
(A) faemi) (B) GuTIRATIE (A) Student (B) Headmaster
(C) g (D) T AE (C) Teacher (D) Social-worker
58. (% PRrrd & am amy wenfors wifoai 7 58, How can you eradicate social-evils being a
S QW Y HqEHA 87 teacher?
(A) TG SN TR @ WA & | (A) Will ty to awaken public
(B) WA ; . consciousness. :
} YR &1 HH Wl | | (B) Will make resolution for social-
(C) "UINER BIRT WaR & | reform.
D f R (C) Will publicize through posters.
0y T i Fhfet w1 (D) Think that social evils can't be
gy 1 B W, S a4 E 4| cradicated, let them remain as they
are.
59, A amg B fF R & wewE D AANe 59, I your colleague develops differences with
Bl oI &, ﬂ‘l 3y — ‘ L administrator, you will -
(A) T EF OR Al B a-gR wel | E&. (A) rebuke the colleague after knowing.
(B) HMiE T SR | (B) try 10 know the reason of clash.
(C) R W 39 WA F aw F | (C) talk to the colleague regarding this.
(D) 3FRw &) : (D) ignore it.
60. ugtaRer @ e @ R AR & wor &g 60.  Students should be taken on a city-tour to gain
RrenfiEl & @ e @Rl — knowledge about the environment -

(A) on special occasion

(A) Ry @@l W
(B) occasionally

(B) -l
- (C) ada (C) always
2 D) s (D) often

Renfi) = araga @ gfa afghy st @ 61. Which of the lfu]]uwing ways is more capable

61.
fril @ T s AE e of testing the attitude of students towards
A) RerPi g Ay wd g @ study?
et (A) Thclr. verbal answer to many
| ) b= wRRefE § ST grr R Grreshons.
._ TR (B) Their  behaviour in  different
(C) % Faflaa Tmr| situations.
) C) Their wrilten '
D) o 7S B _ ( answer,
s & HqedH | (D) Observation of their mood.
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62. IrUE FT B 7 fdenfifat & g WA 62, Which quality of the teacher is liked most by

s uwe frm <mar 22, students?
\ . .
(A) SHE FHgaar (A) His punctuality
(B) THE) Fyoperan (B) His impartiality
(C) & JemaA o ufd ¥ (C) His love for discipline
(D) ST WA (D) His dominance
63. fenRia ’]‘eﬁﬁ‘lﬂ fear s =R — 63. Home-work should be given to students -
(A) I & gan | (A) according to their intérest.
®) ST WEw W@ P oA A @ (B) keeping their intelligence level in )
[ ' view.
(C) s g ®R FT &= 3§ @ gU (C) keeping their age in view.
(D) S 3ifem g 9% aravadani (D) keeping in view their needs of the final
&7 3 e g8V examination.
6. TFF @ TG W@ g 4 waltd qfi@r 64, In the upgradation and development of the
Bl & - child, the most important role is of -
(A) wfta fes (A) Dedicated teacher
(B) r&h qEadi T (B) Good books
(C) Te¥ HIgT Wd & (C) Best playground
(D) e fremea waEi @) (D) Huge school buildings
65. wrmifore aRuFar I @i @ P e 65, The decision making ability of a person with
g e — social maturity is -
(A) =fEE (B) aifimers (A) Uncertain (B) Inconclusive
(C) == (D) gFifaa (C) Immediate (D) Certain
66. AR —urgaaal GEmH A FU ATEHAT 66, What is  the need of extra-curricular
22 programmes?
(A) TE G4 T Fare) Bl (A) Itis a wastage of time.

(B) Itenhances sell-esteem.

(B) uE e A EI 6T |
(Cy It is necessary for all-round

(C) @i R @ fad 98 savs
2

(D) @€ Wil W T wGUAIT &
aregy o war &9 3 -ufl@fEm @@ 67.  Good teaching is best reflected by -

development.
(D) Tt is utilization of leisure-time.

67.
A (A) attendance of students.
(A) BT B guftafa A vegep (B) number of students with distinctions
F " T ] .
(B) < T WG FA arel B @ Ek‘. (C) meaningful  questions  asked by

. il students
(C) ﬁm@w?imn@ﬂl ‘ i
(D) e # wnfFagel ardrERe )

»
ﬁé MOU-II-B Page 13 of 32

(D) pin-drop silence in class,




6 o T BT E A B A ey amentE aay 63,

37
(A) TS T FHIHR

(B) TEfTA A ArrE

(€) F A IS

(D) @ ulEm

69. maﬁnﬂ*ﬂwﬂma‘.maﬁhﬁm 69.
@ fmn & @ T30 w5y o

(A) IPrmaE B Fota & ey
(B) el @ Pty = mfedy
(©) & gum w7 foty S w1y

D) Mgl vd afwfy ohewr @
SR €)= ik

70. mﬁwﬁmmrrﬂaﬁa%ﬁﬁmmﬁ 70.
-
(A) mmmﬁzﬁ?ﬁme!%ﬂmmm
(B) wmﬁrrdiﬁ’rmaﬁnmﬁaﬂgmﬁ
&hmﬁ—rﬁmﬁaﬁmmﬁm
€ 971 Wi & fpw gy G|
mﬁmﬁm#mﬁﬁaﬂm

eq |

(D) ﬁmﬁnﬁ%ﬂammaﬂfﬁ
arfed

|
%ma%ﬁﬁﬁ?ﬁﬂaaﬂﬁﬁmfﬁ}aaanam 71.
grar g7

| (A) =R &

| B) W vfs @

(C) il &1

(D) WY e @

Pr=rfafen 4 9 e v

AR wraAE gy §

T T By 22

(A) EaR WRT =meRr

(B) H'qfa—ﬂmaﬁwﬁa&ma%ﬂﬁ‘fw

(©) warE! ofik Rdvwsrer =) wen o
B FTOT

D) Emaw sk wmfes W | W

71,

72.

4 e weam 72,
a7 BT &) A

What is most attractive in teaching as a
profession? .

(A) Opportunity of self-expression

(B) Contribution in nation building

(C) Connecting with young minds

(D) Long vacations

What should be done 1o determine the future

education of a child after his entrance
examination?

(A)  Parents should take decision,
(B) The child should take decision,

(C) The Head of school should take
decision,

Aptitude and interest test should be
held.

In your view, 10 win the confidence of the
Principal, a teacher should -
(A)

(B)

(D)

keep on giving gifts to the Principal,
keep on censuring and backbiting
other teachers.

(C) keep on executing his own teaching

work ina satisfactory manner.,

(D)

£ain popularity among students,

Knowledge of which area is most necessary for
a leader?

(A)  Psychology

(B) Hypnotism power

(C) Politics

(D) Effective statement
Which of the following attitude is most likely
o hinder teacher collaboration  apd
professional growth?

(A) Ego driven behaviour

(B)  Openness to new ideas and fecdback

(©) Willingness to share resources and

expertise '

Emphasis on
collective success

(D)

" team-work and
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73. "’Wﬂﬂmquﬂmg_
(A) afira
l".\m} HSTATHF F el
MC) TTEREE B

73.

Leadership activity is a set of -
(A) Personality
(B) Cognitive skills
(C) Behavioural skills

\mj R B - (D} Communication skills
4. W TN mEEA @ R aFRY AR 74, Which aptitude is crucial for effective class-
e ' room management?
(A) ¥ v (A) Micro-management
®) ™ w1 (B) Resistance to change
©. Elﬁi'“”” (C) Flexibility ,
™) (D) Authoritarianism
75. Prafaf # & s n’rrnma Weaiw @ 75, Which of the following is an cxample of a
TETT &7 summative assessment?
(A) ifom qem (A) Final exam
(B) wnfes gy (B) Weckly quizes
(C) i A (C) Group projects
(D) TeEn—awg (D) Class-room discussions
76. fanfdn o arafae ferag & - 76. ‘The truest education of the students is that -
(A) 1 4w AfgRy @ ST $Y| ... (A) which creates global attitude.
(B) i TR I HIGAT & Fed—= #31 E°#:  (B) which creates rigid national attitude.
(C) ot |=mTd e aTfTghe F T : (C) which creates institulionalized
| religious attitude.
(D) W wi-faeg Tur dEnfre afgh (D) which creales anti-religious and
H Fea=T FE| scientific attitude.
77. aEUNE B AT SR '{cf‘nﬁ ..TI The. -:rsthmm psgch::-[ugma! function of the
. e & & — tenchcrls- :
(A) =¥ ?T@W @ T B A (A) that 11:;I shnuld mcu!cnle the spirit of
Al nationalism.
(B) =4 Wﬂ?:'lfi}'ﬂi qren @ ReRE (B) that he should develop community
wr Tied ' feelings.
' e ial feelings
G B IC kI e Eh_nFn' (C) that he should develop racial fee! gs.
= ?{%ﬁ o (D) that he should create faith in the unity
(D) v B o N g AT R ‘of all life.
g1 e =i | . iy -
78, werel g A aifen &1 T 8 — 78. Aunhpclf;l:; with effective leadership has the
q -
(A) T wﬁﬁ Gl ((.;; E:u;mnnfmnn
B @ T : ader of group
:C; Eaam‘i '(C) Highly ideal
(D) ' Flattery
(D) =Tl
t% MOU-II-B Page 15 of 32



FTeTE @ AT IECatil gﬂ’ araTaw & — 79. The requirement for the social development of

o T
(B) wgw gRar ' (B) Joint family
(C) UHo gRar (C) Nuclear family
(D) &= (D) Friends
g0, fremProf @ W& weww d wurR &g 80,  The academic performance of the students can
sifinmaest w1 9T wen mied — be improved if pnrr:nls are encouraged to -
(4 gﬂm F P # Frrr m (A) supervise the work of their wards.
/
(B) oifafer TIer! & argwer &g (B) arrange for extra tuitions,
(C) 79 fawn 3 fafoa e &g (C) remain concerned aboul it.
(D) fersl @ WY JR—aN T B8 _ )
@ﬁf (D) interact with teachers frequently,
81. ®me e & — 81.  Skill development is -
(A) Reo (B) 3R (A) Teaching (B) Instruction
(C) uRmyo (D) wrenfra) (C) Training (D) Technology
82. Imf® faerea gra: ﬁa“afﬁ I o¥d 82, Modemn schools often seem. to ignore the
ydid &id & —- most -
srpe L
4 Gy WAHG B (A) Games
. (B) IR wfiwar @ (B) Social activism
(C) I Heel7 &t (C) Value addition
(D) e Mg @6 _ (D) Educational management
83. urg¥edi &) Wd IuArfl @ & dHar 83, Curriculum can be more useful -
g - (A) by local knowledge

(A) I ST BT

(B) 9rdrg sfEs g™ (B) by Indian History

R e, - S — (C) by Indian Gc(}gmphica]_ik:;dﬁl'cdgc
(D) R R 9 Ew . (D) by Indian Cultural knowledge
AEfTE w0 W uRud i WeRew 84, How do socially mature teachers foster
PEIT ATATERT &I DY geTdr <o 87 positive class-room environment?
(A) fari femefi & ufty gerar feramav | (A) By showing favouritism towards
(B) FRreor 3@ & are faenfefat & wrr certain students.
qIadd F g9 (B) By avoiding interaction with students
(©) st 71 g o ok BrEl @ ' outside of institutional time.
R T ' (C) By ?ddressing c:#nﬂicls and
) romoting respect amo
(D) a]ﬁ'im?f Wﬁ:’ W g f&d fam (D) ]l;y strictlgy 'adlljlcring- to Eusl:;difnilﬂs't.uul
. Frsi &1 et | g & | considering individual needs.

MOU-II-B Page 16 of 32 AL O g

:
é




85. Mrw i @ wwim @ HeaEd 85, As a result of the use of Eﬁﬂcmi”nul
3:_: P I - & Technology, the work of the teacher has -
l.:li’ :Tﬁ? & T R (A) become easy
)} ®fe & o @ siee (B) become difficult
{ﬁ} T @ &‘ (C) increased
86 () Ty e mn & (1))  become scientific
" B 2T Qt??’ﬁ! oTa-afEd e ek 86, Which teaching method focuses on student-
e @i #? centered learning and active participation?
(A) = ffy
@ @ F {A) Lecture method
ERE {B) Direct instruction
(C) ywmmo amnfya fen (C) Inquiry based learning
D) T 3R apam D) Drill and practice
87. B H y
. s w99 AT & 87, Students  need  vocational  counselling,
i — because -
(A) =% arely wfy oy Had B T (A) they may get job of their own interest.
ifl-i_t (B) they may get job of their own interest
(B) AT B ® IR
- Y T ik and job satisfaction.
(C) == 'GFF-I"I BTVl & AR e e (C) they may get job as per their capacity.._
RiEm)
(D) T a?qlﬁ TR A udr @ (D) they may get job as per their parents
A fret e | choice.
88. @ fﬁfﬁrmf&mﬂmmmm (88. By which method, students leam to the
Tfa & Yraan 27 \ A " maximum extent and with the utmost speed?
(A) TEIR - : " (A)" By sccing P
B) wgHr =\ C A @) Byreading T
(C) HAR \ o (C) By listening
(D) < wE \ (D) By doing themselves
89. TH Rwd @ w9 ¥, AU afeemi Bl 89. As a teacher, you will mativate the girls
drenfed @ - | to -
(A) wWEer! o @ ford (A) be self-supporting
(B) = e gre w=e & fod (B) achieve higher education
(C) o= witpm @1 iAo o @ ol (C) refine their talent
(D) fare s & ol (D) 10 get married
90, UFH Wl WUUUI B IATIEHA € — 90. An cffective communication requires -
(A) T Ges % aedrd| (A) change in speech pattern.
(B) Sfe sra—-E | (B) appropriate gestures.
(C) fgm =1 31| (C) mastery of conlent,
(D) G=X afra | (D} handsome personality.
t% MOU-I1-B Page 17 of 32



9]. US IH s ) ggwm € — 91. The mark of the best teacher is -
(A) = feenfifal ) sfRa wwar 2 (A) one who motivates the students,

B) < RraPia p— — (B) one who makes the students
" - f

v disciplined.
(©) < frenfifai & sr@w wafr @ (C) one who develops imitation tendency
R 3y among students. |
(D) one who generates independent

(D) S frenfif # wos s e o ' |

thinking among students.

92. Wﬁlﬂ:ﬁmmmﬁm@&ﬁaﬂwmﬁm 92. Which is the basic agency of 'mclal|

& development? .
(A) wra-frer 7 yRar (A) Parents and family |
B) 9w 7 wEm : (B) Society and community '
(C) Ry g fismm (C) School and friends
M) 99 9 ¥~ g (D) Wealth and prosperity

93. U® s SRS E BT 2, i — 93. A good teacher is one -
(A) mﬂgﬁmﬂ & dRM wH (A) who docsn"l allow, students to ask
®B) Refid @ f Tﬁ a?’;,;‘ E— questions while teaching.
BEER T 2 | (B) who rebukes students for their
(©) Renfll @ wem v qud @) cunosity.
ERI G T SRS S e— (€) who allows students for relevant
TRl R | questions and explains. '
(D) R SuRyR) 31 Remell =2 £ ain (D) in whose presence students fear and
UET YPH § e 8 g £ fail to put questions. '
94. faenfdr § Afte et ) v v RSR™ 94, How can moral values be developed among'ﬂt
¥ s wwar 27 students? i
(A) Through strict discipline. .

(A) & I W | (B) By giifging lecture n:mnml-valucs..'
(B) Afts g W @m=m 2aw | : (C) By | relating the wvalues with

(C) ¥ogi @& uregusd ¥ gl oxa | curriculum. 3

(D) HET el @ hE e Ay | ~ (D By tclling biographies of greal

personalities. '

95. ufec o1g femil @aw d gl &ar 2, @ 95, If a student fails in examination, it is the fas!

TE el & — ; of -

(A) 3rEGUEH @ . (A) The Teacher

(B) TR wuE @l (B) ‘The Principal

(C) @4 BT &) . (C) Student himself/herself
M = WA 7o fFar &1 9dar’ (D) It cannot be generalized
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96. fww i aENE RS T w g2 96,
o @ ford Fvwelt sifvgfy smavas @2
(A) TP
(B) SSwirm
(C) arfvan
(D) 3EFR
97. wmifors uRugaar i gfy o & - 97,
(A) g & A
(B)y wrfore s fivar & wmr
(C) wmifurs wr=ual & W
(D) wrnfare afemar & wm
98. IRAYA & WHA WY goH Aewayd € - 98.

(A) A @9 WA & ford

(B) wurmErd & wEe wE @ ferd |

(C) vt & yfvafs & e g
2l

(D) 3rama & 1 fAgaeg @ vEl A
fawfirg T @1 o ane )

99, st fEn M 3 ekEA @) w99,
gt & —
(A) TmIE & eI e |
(B) fwgr o amamfie fE|
() fwrs 2 TR T
(D) e & e & ufy
100. Rrenfr} § @ife ufrgl @ Rem @ 100,
Y FTd AT gHE T~
(A) 3P faenfeldi ot @5 @ favg w
ferer g e Y Ee |
(B) frenffaf & ford wrpfes wRemi @
AT T |
(€©) @ @ RefEi A A R e
Caugl m
() frenfi @& f awier WA
AT |

.

. . ering
Which attitude is essential for fos

positive interpersonal relations in h‘-‘ﬂ‘:hin-‘;’?
{A) Empathy
(B) Indifference
(C) Impnllmnrc
(D)  Arrogance
Social maturity increases with -

(A) age

(B) social-interaction

(C) social-recognition

(D) social-competence

Asking question at the time of teaching is

. important in order to -

(A) maintain discipline.
(B) please the Principal.
(C) give opportunity of expression to
students.
(D) find out the understanding of conlent
taught to students.
The knowledge of National Education Policy

and Programmes shows -
(A) eaming capacity of teacher,
(B) professional interest of teacher.
(C) political consciousness of teacher.
(D) teacher's awareness of education.

In order to develop logical thinking amr-ing

" students you will -

(A) ask students to present their views on
a particular topic.

(B) organize group discussion  for
students. o

(C) make one or two studenls prepare

. Tholes.

(D) conduct guestion-answer session for

students,
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-4 / Section-C
A Srmedal / General Awareness

101, 67d4R, 2023 ® ¥RA & Y& g angw 101,

T w9 ¥ R oy @
(A) o e

(M) =EY IferTs
(C) f=re g frard
(D) ERrera ami

102. M@ Aaga o gt & fges @ s 102,
IERTe & Y | qaERer § vigT o 87
(A) ARferam (B)
(C) wifsam (D)
\)03. frfafan <R 3 o9=0 o & wad 103,
. DR R?
(A) =1 (B) Twn
(C) werid) (D) TREN
104, WoE 9 164 e 3§ wfgen Rumsi 104,
o1 wiewa & —
(A) 10% B) 12%
() 15% (D) 20%
105, T F 79 HY A1 — 105.
(A) v
(B) w=ur el Afdar
(C) weet fRarm
(D) T =ROTE
106, SR wE b @ e 3 TN E? 106.

(A) e R iR /@ 3w ania
(B) e wrR AR W e iE
(C) A AR AR FTel AR
(D) TTer AR 3R B @

Who took Qath as the Chief Inl‘u%
Commissioner of India on 6" Novempy,
20237

(A) Rajiv Gauba /

(B) Anandi Ramalingam 1

(C) Vinod Kumar Tiwari |

(D)} Heeralal Samanya

Which residue is mainly released gy
environment by the dissolution of mode
mobile batteries?

(A) Beryllium (B) Uranium
(C) Sodium (D) Potassiom
Which of the following river is the shortest i
length?

(A) Narmada (B) Krishna
(C) Mahanadi (D) Godawari

The percentage of women MLA's in te
16™ Assembly of Rajasthan is -

(A) 10% (B) 12%

(Cy 15% (D)  20%
The Royal Poet of Bundi was -

(A) Nansi

(B) Kanhaiya Lal Scthia

(C) Suryamalla Mishran

(D) Chand Bardai

Which seas form the coast line of Ukmine?
(A) Black Sea and Sea of Azov
(B) Mediterranean Sea and Sea of Azov
(C) Mediterranean Sea and Black Sea
(D) Black Sea and Caspian Sea

107. @ € A ﬁ@ﬁﬂ @/ &Y qE& T 107. Recently the Reusable Launch Vehick
Rrsrgrt wrlerer ¥t § WheRTdE Gdert faar ‘Pushpak’ was successfully tested ¥
) 3 g (A R R e Chitradurga Test Range. Which instit®
E::)ﬁr?;“??. e — developed the Pushpak Viman?
, d b (A) Defence Research and Developmest
By fegwm e fafes QOrganization »
(C) mn AR @ (B) Hindustan Acronautics Limit
) mﬁ\qumai?ﬁg ST WA (C) Bhabha Atomic Research Centrc.
108. R st 7 drg & w3 '(D_) Indian Space REEE:'.IIC]'I: Drg,_amﬂuf'
A) T Rig @ e 108. ‘Philosophy of the Bomb® was written by
(B) 01 IR fafery ‘(*;; Ehhﬂgal%h;g; |
(C) INMFTF Teore @ amprasad Bismi
(D) Wrad T ey (C) Ashfaqui.lah Khan |
_ (D) Bhagwati Charan Vohra .
t:% MOU-11-B Page 20 of 32



B

109. IETAA. TEET-24 (IMT TRILAT-24) 109
M gErard N FE-a e 8 '
(A) e, HEfta® 9 anfrm
B) Wra, faaam 3 sifgfmm
(C) ¥Ra, Wrfas 3 &=
(D) TRA, A0S T /Sy il

110, P 3 A S AORAT B TR S WA 10,
¥ wrorer wa @ e et an?

(A) WdHTe
(C T

(B)
(D)

TR
TR

111, yrem @ qan ¥ fe A [ Fea g L

zfeyor # 27

(A) s Rl
(B) W@
(C) WRarg T
(1), IRTHS

112, P 3 @ g B @ TaM-3 & &t 12

garm =n?

(A) T ga € T

B) fIEd N g W D
() fsforae fred danNed

(RL-E97) (ISRO)

113, Pt & & e w8 it T8 &7
(A) 1 e — aferg

(B) ¥ A — FACE
() ffwed — ufff T

(D) ARG Brer — B
114, froma va qur 28 ff e wow § Rua 114,
oy?
(A g (B) A
(C) dIgea (D) wiEd
115, fr=1 % ¥ B fodme &3 o omar @2 115,
M s 9ed
(B) <l
(C) @

(D) (B)TE (C) 31

116, RRWIAE @ das o 87

(A) Trferer
(C) #m™

(B)
(D)

e
@y

b
-

113.

116.

Which of the following countries are part N
IMT TRILAT-24 exercise?

(A) India, Mozambigue and Tanzami

(BY India, Viemmam and Australia

(C) Indin, Mozambigue and Kenya

(D) India, Mozambique and South Africa

Which of the following was not a part of

Rajasthan Union in the process of Uniflication
of Rajasthan?

(A) Pratapgarh ‘B)  Karauli .

(C) Bundi (D) Dungarpur
Which of the following is in the far South on

the Map of the Rajasthan?

(A) Mena City

(B) Sojat

(C) Marwad Junction

(D) Rajsamand

From which of the following centre
Chandrayaan-3 was launched?

(A) Satish Dhawan Space Centre

(B) Vikram Sarabhai Space Centre

(C) Physical Research Laboratory

(D) ISRO
Which of the following is not correctly
matched? '

(A) Mango Showers — Tamil Nadu

(B) Cherry Blossoms — Kamataka

(C) Norwesters — West Bengal

(D) Bardoli Chheerha — Kerala i
Virupaksha and Pampa Devi were Shrines
located in which Kingdom?

(A) Vijay Nagar  (B) Chola

(C) Chalukya (D) Pandya
Which of the following is considered the
Secondary Sector?

(A) Automobile Production

(B) Forest

(C) Mines or Mining

(D) Both (B)and (C)
Who is the writer of Kiratarjuniyam?

(A) Kalidas (B) Bharavi

(C) Magha (D) Bhavbhuti

B wovns
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w7, B AR R wt A g wmR g
Fread &2

Y5

0[,]‘9.

121.

122,
123.

124.

117.  Through which of the following passes dq

the Jawahar Tunnel pass?

(A) REam (B) =ropen (A) Rohtang (B) Nathula

(Cy ey’ (D) gr% a1 (C) Banihal (D) Dungrila
E:T;ﬂ ‘:? & F am At f-l?im'v'lf @ 118. Which Operation was launched by India

(A ! “”; 3_[ '3__“’ | 3= [ e evacuate Indian Nationals from Haiti?

(B) i w1 el (A) Operation Indravati

(C) sifwie 1w < z O e ou i

) o e e
I At £ T T T 87 119. When is the ‘National Gil Child D

(A) 24 (B) gnrd celebrated? ‘

© MmaxR () 19757 (A} January 24 (B) March 8
T TR S B T 2021 AT 120, Which comeen s oo s by Prie

P2 -

i, 6% &8 aeurm ) wEqa Minister Narendra Modi 2t COP26 in Glasgos

(A) wataror @ Rt e in Nuvcl:ﬂh:rlﬂ?l?

(B) T R L (A) L!ﬂ.‘sl}flc for Environment

(C) THA ST B R S (B) Lifestyle for Sustainable Growth

(D) R A W B S (C) Lifestyle for Poverty Allivation
T @ A iyl A - \{’ﬁ‘}hhrmlc for Equality for all
S T B A R o Govemnnaont of Lo o J2unebed by th
24 & fom f urder @ s v T a7 msismnT:m[g P:'::?;g d]ml" Elve ﬁllilrhcu!

(A) PM-SURAJ (B) PM-USHA communities? e

(C) SAMARTH (D) sSwAvaM Igl PM-SURAJ  (B) PM.-Usua
R R e I o — : ) OAMARTH (D) swayam
. FRET 122, Er:mh of the following are also called nafues

(A) mﬁ“ (B) W Hlers cells?

(C) Hi=rmzgey M) FrraEey (A)  Monocytes (B) Neutrophils
T AR e (€) Thrombocytes (D)  Lymphocytes
- TR 50 29 gro fey s 12, rhﬁfuum” gives the Ramon Magsaysay

W | |

(A) Rl @) feg (A) Philippi itai
(C) &Tﬁﬁ-]‘q‘[ (D) Hﬁﬁ:’m'[ (C) A Fﬁm (B) Britain
Rt 3 1 ¥ Rerd 4o ot som & afe 14 e @) Malasia
TE 387? - Wha of the following has not been the
(A) 2 Fes Rig Govemor of Reserve Bank of India? |
(B) S faws e (A)  Dr. Manmohan Singh |
(C) = adsh Ty (B) Dr. Bimal Jalan :
M) =1 R R :E} &' :;‘G'-PSI ) 4
2023 - Arvind Pangariya

TS WP SRER W R 125, The Nofel Peace Prize 2023 was given

(A) R srrdy o B

A. .

®) o e o @ oy '

) I R (O Yon Fosse
S (D) Suluhu Hassan
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126. =f 2023 @ e W @ Wt

s, el gwerm PR R e

(A) iy Hf ARy

(B) afaere gusmEg

(C) @1 mor R wwgifea

(D) wo= fhe

1945-46 # ITaR ¥ gv R i o

E?Jqﬁuﬁaﬁﬁﬁmaﬁmaﬁnﬁm\aﬁ

(A) CAERATE 6

(B) ¥NIR W=

(C) wftren aa T

(D) FATd I Hgar

128, YT @i Ui @ wem o TRE
affrm o wika gan?

\/12‘?‘

126.

127.

Who has received the Sahitya Academy. Delhi
Award for 2023 for Rajasthani Language?

(A) Shrimati Deepti Kiren

(B) Avinash Chundawal

(C) Dr. Gajendra Singh Rajpurohit

(D) Jayendra Singh
Who presided over the ninth session of the All
India Lok Rajya Parishad in 194546 in
Udaipur?

(A) Jawaharlal Nehru

(B) Sardar Parel

(C) Manikya Lal Verma

(D) Balwant Rai Mehta
In which ycar The Rajasthan Guaranteed
Delivery of Public Services Act was passed?

(A) 2006 (B) 2000 (A) 2006 (B) 2000
(C) 2009 (D) 2011 (C) 2009 (D) 2011
129. 2@ T g&, 1659 H B30 A1 — 129. The Batle of Deorai in 1659 was fough
n : i . bc . -
\'f;:;/ P E‘:’a:;?ﬂﬁml ﬁrrih‘ lt Eﬁ.mﬁm,i 3 (:; ct:umng:cb and Dara Shikoh }'-i
e o (B) Sawai Jai Singh of Ajmer and the
Maratha
{C} d «d SR S B J =. (C) Suhltan Twutmish and Maharana Jaita
w3 Fﬂg & A : Singh of Mewar
(D) PR T a1 AR AR (D) Rao Jaitsi of Bikaner and Maldeo of
HIerad @ 41 Marwar
130. 2w 9 enfifs g 9 qeran T @ for g% 130, Which religious pilgrimage site of Rajasthan is
) ¢ T (PRASAD) TTEHl H UWARIH not included in the 1-les.r.n'_ Scheme!
wrre ot et v mhie A & launched to promote religious tounsm in the
ﬂ'ﬂ ™ e country?
(A) g5 u‘_ Y _ (A) Pushkar (Ajmer)
(B) A S (e, s (B) Malaseri Dungri (Asind, Bhilwara)
(C) Ffa TR (Framd, dHrR) (C) Kapil Sarovar (Kolayat, Bikaner)
(D) e v o) (@) (D) Kham Shyam Ii (Sikar)
131, FENg IO @ WIS o — 131, Founder of ‘Atmiya Sabha’ was -
(A) AT I HIEA T, (A) Rajs Ram Mohan Roy
(B) o = (B) Jyotiba Phule
zurTe . (C) Dayanand Saraswati
:E; Ry T (D) Vinoba Bhave
132, 9 Rufwt @ g &7 132.  When is the 'Zero Discrimination Day ™
(A) Irﬂ-—i ) | ﬁ’ﬂﬂ_‘ rd (A) 1% March (B) v December
(€) 19 (D) 17T (€) 1“Janvary (D) 1" November
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134,

135.

136.

137,

138.

b&gﬂ.

140.

141.

(C) 2018

27 FEAR, 2023 @ FEE © W @
= ¥ faEerer ey &7

(A) fud fa=

(B) I T

(A) =TPiE 1 (B) =iz I
(Cy TaITH (D) ffEv a9
= 4 @ e w1 e 968 80
(A) THST G — T AL

(B) <T@ & - WA T
(C) THEER |FR & — Hddl
(D) AR & — TS T

gﬂ; af ¥ WA YWd 9 @ W
Ay 1983/ B) 1857

(C) 1853 (D) 1905

NIRF &1 i awem 87

(A) P "5=nea

(B) f&<1 d9=rerg

(C) oo od =i #3ea

(D) TRy HIAT

frer a4 WRT U waen Raw w@= e
U BHI?

(A) 2005 (B) 2000

(C) 2011 (D) 2019
frgrar Rufkrd= qERieer & TRATTE
TEwT i 47

(A) T2 YRIY TSNS

133.

135.

136.

137.

138.

139.

140.

Who took Qath as the Prime Minister of
New Zealand on November 27, 20237

(A) Cindy Kim

(B) Christopher Luxon

(C) Anthony Albanese

(D) Chris Hipkins
Which of the following State is the leading

producer of Manganese?

(A) Odisha (B) Bihar

(C) Assam (D) Uttar Pradesh
Which Pratihara ruler assumed the tifle
‘Adivarah"?

(A) Nagbhatt I (B) Nagbhatt II

(C) Vatsraj (D) Mihir Bhoj

Which of the following is not correctly

maiched?
(A) Gosunda Dam — River Banas
(B) Jakham Dam - River Jakham
(C) Jawahar Sagar Dam — River Chambal
(D) Bisalpur Dam — River Berach
In which year Indian Railway Board was

cstablished?

(A) 1951 (B) 1857
(C) 1B53 (D) 1905
Who conducts NIRF?

(A) Ministry of Education

(B) Ministry of Finance

(C) Ministry of Science and Technology
(D) Ministry of Health

In which ycar did the celebration of National

Voters Day start in India?
(A) 2005 () 2000
(C) 2011 (N} 2019
Who were the founder member of the
Hindustan Republican Association?
{A) Chandra Shekhar Azad
(B) Sachindra Nath Sanyal
(C) Aurobindo Ghosh

(C) arfA=) ¥y
(D) H uae @ (D) Ram Prasad Bismil
/M we Jhd — Choose the correct code -
(A) A.B,Ca@D (B) AwIC (A) A.B.CandD (B) AandC
(C) ATuD ) (D) A.BTUD (C) AandD (D) A.BandD
usity efa mftEwer @ e s @9 141. In which year the National Green Tribunal
§§? (NGT) was established? -
(A) 1947 (B) 1991 (A) 1947 (B) 1991

(D) 2010 (C) 2018 (D) 2010
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142.

143.

144.

145.

147.

148.

149.

150.

R o SI geTd T &2

(A) wdw (B) TR =

(C) WS (D) e

SIPRI @1 A a BY 143,

(A) wWrem sevrra 9w R
IRIRYE

(B) ¥ Fewwme 9w Rad
TRICyT

() Raeonels gewmda 9w Rud
RIege i

D) WREA  gedvEe g Red

A elmed e 3 A & — 144.

(A) es T wrerary afads weveE A

(B) fazg = woeE A

(C) g ey FPerediawer wered |

(D) frTg w|@rey HWres 9@ o

@a’rmwmnmzammm 145.

m} mqu_/ B) TS

(C) e wed (D) <3

BT & 3§ OfE CADITI Wi fra & ¥ 146

g &7

(A) wferen (B) @Ry

(C) fimm (D)

2023 ® o[ REHR G weAva Rapfa 147,

mﬁmﬂ-ﬁ%ﬁmﬂaﬁ?

(A) 'ﬁ

(C) TRaEmi (D) % o h

g&r«ﬁqziﬁwanﬁm‘rmﬁaﬁ;rm 148.

2

(A) 43 A (B) uf¥edl O

() * (D)  HEYE _

RIS SrET ARG Sl e w7 149.

(A) 3T (B) FOQR

(C) . &rel (D) =

%ﬁﬂﬁiﬂ%ﬂﬁﬁmﬁ{ﬁﬂﬂﬁwﬂ 150.
i —

(A) g TR a7 9 @ i @ e
argfterd 2|

(B}mﬁmwmm%aﬁg@zﬁﬂh
] |

8 e g -

(A) zi‘"aaAﬂé’lé

(B) @ad B WEl &

(C) = TEl T8l 6

(D) <1 Adur B el §

What is the §I Unit of wavelength?
(A) Henz (B) Diopter
(C) Farnday (D) Meter

What is the full form of SIPRI?

(A) Stockholm  International

Research Institute

Swedish Intemational Peace Research

Institute

Switzerland  International

Research Institute

Sarajevo International Peace Research
Institute

'Global Stocktake’ is a term related to -
(A) UN Climate Change Conference
(B) World Bank Conference
(C) UN Disarmament Conference
(D) WHO Conference

Where were ‘Khelo India” Youth Games 2023

Peacc
(B)

(O
(D)

Peace

organised?
(A) Maharashtra (B Tamil Nadu
(Cy M.P. (D) Orissa

The recently launched ‘ADITI' Scheme is
associated with which sector?
(A) Defence (B)

(C) LEducation 11)]

Divyakriti Singh, honoured with the Arjuna
Award for 2023, is related to which'sport?

Health
Finance

(A) Swimming (B) Horse Riding
{C) Archery (D) Shooting S
Which Mountain Range is also called
Sahyadri? i Ea
(A} Eastem Ghat (B) Western Ghat
(C) Vindhyachal (D) Satpura

Where is the ‘Bhairodev Dakay’ Sam::uary ;

located?
(A) Alwar (B) Bharatpur
{(C) Karauli (D) Dausa

Consider the following stalements mgardmg
the Humayun's Tomb - '

(A) It is situated in the middle ul‘a Charbagh
Style Garden.
(B) Red Sandstone is the main conslrut:hon
material of the tomb. &
Choose the correct code -
(A) Only A is true,
(B) Only B is true
(C) Both are false
(D) Both A and B are true

£
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162.

163.
164.
165.

166.

167.
168.

169.

Hqr—% / Section-D
it / English

Direct — Indirect -

Mohit said, “O that I were a child again!”
(A) Mohit exclaimed with wonder that he was a child again.
(B) Mohit wondered that will he be a child again?

(C) Mohit strongly wished that he had been a child again.
(D) Mohit prayed that he will be a child again.

| doubted the truth of his excuse for coming late © .o
(A) Do you (B) Will you (C) Didn't1 (D) Isn'tit

NSI:-I: Choose the alternative which is similar in meaning of the following words -

Indolent - .
(A) Effect (B) Slothful (C) Dilemma (D) . Impish

He refused to be led by the nose. .
(A) Quarrelsome (B) Submissive (C) Bully (D) Irresponsible

To flog a dead horse.

(A) todo avain thing (B) 1o be foolish

(C) todrag (D) torevive.interest
She had to.....cccooencierrmanee the job offer due to her parents” ill health.

(A) take oh (B) hand out ) look forward to (D) tum down
Choose the antonym for ‘Dark’ - ﬁ .o

(A) Dim (B) Gloomy 3.174 (C) Bright (D) Shadowy
Modem science has made. ...coemeeemrinniens advance. . i

(A) incredible (B) illegible (C) legitimale (D) objective
Correct spelling -

(A) Eiquete (B) Eriquette (C) Eltiquete (D) Eltiquetle
| SRSt completed my post graduation by the end of this year.

(A) have (B)  will have (C) am (D) will
Select suitable ‘prefix’ to form a new word -
Pathic :

(A) up (B) pro (C) pre (D) tele
................. he is pOOF-..c-rvcn.nnhi€ is contented.
{A) So-as (B) As-as (C) Though - yet (D) No sooner than
Choose the word that means - *a person who studies the origin, history and structure of words™. -
(A) Philosopher (B) Etymologist (C) Archaeologist (D) Sociologist
Allrerrreeerserennns AN 5 sure to be successful. .

(A) industrius (B) indistrious (C) industrious (D) indestrius
Correct spelling - -

(A) Preserverance (B) Preservarance (C) Perseverence (D} Preservenience

Direct — Indirect -
“I don't know the way. Do you?” he asked. -
(A) He said that he didn’t know the way and asked if [ know it.
(B) He said that he didn't know the way and asked me if I did.
(C) He asked me if I knew the way which he didn’t.
(D) He told that he was not knowing the way, but wondered if [ know.

Hurry up! there isn loeeneiniens. time left.

(A) great (B) many (C) liule (D) much
She is fond....cccceveeiiieins playing the piano.

(A) in (B) of (C) at (D) with

arison in the mountain near our building is the tallest in the region -
(B) Comparative
(D) None of the above

Identify the degree of comp
(A) Positive
(C) Superlative
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170.  Heisn't very intelligent but he reads..........ooisvvanne,

(A) much B) toom i “I'p
171. Tamnot scm‘cd...,.............f.h]im, . () alot M) ot ,
(A) by B) of (C) with D) to "
172, I[T) lhr(;;t‘s ]l:l{dl h;ccm;: a (nightmnrl:‘ in this sentence ‘a nightmare” js - it
ject (Indirect) (B) Complement ' j i
173. Children often take........ccv.cunn.e. th:ifpﬂrem.t i (D} Object (Diee?
(A) 10 (B) behind \ (C) after . (D) for
174. Identify the suffix in 'Friendliness'-
(A) Friend (B) MNess (C) Friendly (D) Fri
175. Choose the prefix that can be attached to ‘comprehensible’ - g
(A) Non (D) Un (C) Dis {D) In ’
176. Sheis allergic...owmmriionnn cats. -
(A) to (B) with (C) by (D) for |r i
177. Identily the correct sequence of jumbled sentence - r
(P) sales last year (Q) effect much (R) improvement in () we didl not
(A) SQRP (B) QSRP (C) RSQP (D) PRSQ
178. I you...eecienne the history of the world, you will find that many great men have also been good.
(A) lookat (B) gofrom (C) meanwhile (D) such as
179. He cleared the.........cooiiiinnnnns with acid. ¢
({A) Nower (B) flour % (C) floor (D) flow
180. You will cenain by come to grief if you follow' Ris foot steps.
(A) Again (B) DBenefited (C) Ruined (D) Qutshine
181, Choose the word similar in meaning to ‘fostering’ -
(A) Safeguarding (B) Neglecting (C) Ignoring (D) Nurturing

Direction (Q. no. 182-186) : Read the following passage and answer the questions given below :

In today’s fast-paced world, stress has beceme a commen phenomenon affecting people of all ages.
Stress can be triggered by various factors such as work pressure, financial worries, relationship issues
or health concerns. When lefi unmanaged stress can have detrimental effects on both physical and
mental well-being. Therefore. it is essential to develop cffective coping strategies (o deal with stressors
and maintain a healthy balance in life. One cffective way to manage stress is through relaxation
lechniques. These may include deep breathing exercises. meditation, yoga and spending fime in nature,
Engaging in hobbies or activities that bring joy and relaxation can also help alleviote stress,
Additionally maintaining a healthy life style with regular exercise, propes nutrition and sufficicnl
sleeps can build resilience apainst stressors and promote over-all well-being. Furthermore, seeking
social support is crucial in times of siTess. Talking to friends, family members or a therapist can
provide emotional support and perspective. It's essential to remember that it's okay 1o ask for help,
when necded. By addressing siress proactively and incorporating relaxation techniques and social
support in daily life. individuals can better manage stress and lead healthier more fulfilling hves.

182. What is the main focus of the passage?
(A) Impact of stress on physical health
(B) Techniques for managing stress
{C) The prevalence of siress in modem sociely
(D) The importance of meditation
183. What role does social-support play in managing stress?
(A) It has no impact on individual life.
(B) It can provide emotional support and perspective.
(C} liexacerbates stress.
(D) Itis the only factor causing stress.
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What triggers stress according to the passage?

(A) Only financial worries (B) Only work pressures
(C) Only relationship issues ~ (D) All of the above

What is NOT mentioned as a method of stress management?
(A) Deep breathing exercises (B) Yoga and meditation
(C) Playing video games (D) . Spending time in nature

186. What is considered impClE'lant for maintaining healthy balance?
(A) Developing effective coping strategics (B) Engaging in work without breaks

(C) Avoiding social interactions (D) Forgetting stressors
187. Select the synonyms of the word -
‘Rendezvous’ : ,
(A) Restless (B) Party ' (C) Meeting (D) Fantastic
188. What is onc word for ‘custom of having many wives'?
(A) Monogamy (B) Bigamy (C) Polygamy (D) Matrimony
189. Choose the correct form of ‘be’ verb for the sentence -
The team.......ccunne. practicing hard for the upcoming match.
(A) are (B) is (C) were (D) have

190. Find out synonyms for the underlined word -
The old Mansion was shrouded in mystery, its dark comidors echoing with whisper of the past.
(A) Plainness (B) Clarity (C) Overt (D) Enigma
191. What tense is used in the following sentence?
‘She had already finished her homework before dinner.’

(A) PastPerfect ° (B) Pastsimple (C) Present Perfect (D) Future Perfect,
192. Choose the correct form of adjective - = '
This is the ceeeeeceeienene book I have ever read. 9 ’
(A) superlative (B) interesting
(C) more interesting (D) most interesting -
" 193, He failed ....ooouerveee his best effort. -
(A) with (B) inspite {C) incase (D) instead of -

194. What is the definition of the word *sycophant'?
(A) A person who is socially awkward.
(B) A person who flatters others. - -
(C) Someone who is highly skilled in a particular field. ﬁ
(D) An individual who is excessively self centred. NH
195. A person who studies earthquakes and their effects is known as -

(A) Novice (B) Theist (C) Tourist (D) ' Seismologist
196. Which scntence is an imperative sentence?

(A) The sun is shining brightly today. (B) Please pass the salt.

(C) Shesings heautifully. (D) The dog barked loudly at night.
197. He prevented me.....cooveuesee-- going_ there.

(A) in (B) with (C) for D) from

"198. Which sentence is an active sentence?

(A) The cake was baked by Rima. (B) The ball was thrown by Ramesh.

(C) The letter was written hy' Rohit. . (D) Rohit sang a song for the class,
199. Change into Passive Voice - Juice fills the jar,

(A) The jaris filled with juice. (B) Juice has been filled in the jar.

(C) Juice has filledinjar. (D) Jar s filled.
200. Select the word opposite to "Departurc -

(A) Exit (B) Fullout (C) Farewell o
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M=% / Section-D

=8/ Hindl

151. m%mmmwwﬁw%ﬁaﬁﬂmﬁ

(A) IQuTaTaEH (B) frovaros C AT
152, PR A 4 < P a6 (C) Rfmaras (D) wrard

(A) w7 + @1 = weimi ' B) w7 + Wy = wEnmY

© .+ va = e H D & 4 Rer = Affer
153. s s s fRAvsmges - S0

(A) ©ST gl g1 (B) =& 7{

(C) ™R F A U H (D) TR 2 A =i
154. F=fafes 8 ¥ sds fivm a8 & -

(A) &a (B) gtg (C) W& (D) drn
155, ¥ F afda <wn @ 991 q@a-uden o awg 3 R e a2

(A) T ur =fim 2an M) Y 921 gE g o1

(C) =i 3@ & 99 ‘ (D) © @ <@ o
156, fr=forfea % 9 1o WY & SgmEv & -

(A) Praem (B) WE (C) faami) (D) #r[Ea
157. =1 % A gz g & -

(A) 9Y-—9vT — Eg WA (B) IR — FHIRY WG

(C) wlifem — aegen waTd (D) T R — faT) T
158. fr=fafan § & ‘e suwd 9 771 g 78 8 —

(A) 3ReR (B) &0 (C) &M (D) 3R
159. ‘feo afed @ wy fm 7 iy & fg Suga @ -

(A) 38 3 N arg A A\ (B) i = @y A€ el

(C) T ar dvenr AR g - =@ (D) Fe & e 7 o *
160, Frafafaa 4 & @ aa & - : 2

(A) S @ & # fely &)

(B) e wsa afesrd eRi €

(C) arsfa afiar & T w0 FE £

(D) AtTU BF 9 EHER W ) |
161, T oix Hew Frefaiaa % § frmd wiard w8 }

(A) 3 - (B) @it : (€ f& (D) drg
162. frefafaa & @ ang Rew @ — :

(A) T & — T A FHE R <A

(B) ¥A—AT BT — TEM A ;

(C) & IR o TR BAI— 3w & Rwrer

(D) o@d W TR T — I T TR '
163. =1 3 W @rTar e, Wed agdud e €7 .

A) T B) <o (C) " TR (D) TERER
164, Prefafgs 3 & s aof 4 # -
, A) & (B) H € = D
165. By # A frw e § w4 o g &7 . :

(A) TRIF, TEER, diRY (B) e, wew™, fawR

(C) udrr, W, =iy / (D) %E TR g
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169.

170.

171.

173.

174.

175.

176.

177.

178.

" 179.

. Frefafaa % arire o= o e o= & -

(A) T (B) foimd (C) wma
. PR A @ g Ao ¢ - R

(A) UUFR — IUFW (B) HEH - T&H (C) e — ufdwd (D) 7 - g

. R der AE mar q R -

(A) T (B) jare (C) #vara (D) wwrare
Prder (v e 169 R 173) ST wEeR @ MO Al @ I AR —

ererdl Wil @i # S W e dere @) st # e T iR v o e @
gu:l'ﬁmnﬁ‘mmﬂﬁﬂfﬁmnﬁmmns‘ﬁﬁwﬂmﬂgﬁzﬁ'ﬁr&ﬁﬂﬂrﬁﬁm?lhﬂ
D AR, TG TEd wifel s e A gn R A el w9 oi¥e gwEm
o @) TR A 106 AT@ TEA By iR SR @@ty § Wi fmr| a8 gew 1020 €
# 3rye o WS, @ @ wwifia g8 ) R, Sud I qwes Y ad s o A sreray
@ qrEl F1 TR A fidar § 9u arg e REE A 36 R § v R aeee @ am

TEwE § 8 gy ol Fuga ¢
ST I WEE A AR W a W R -

(A) T (B) = (C) ar (D) faaw
ITOT o waw weiw Wdw w8

(A) wee o i (B) deere © aW

(C) TR 3R Tous (D) W T WEd -

mﬁt%mﬂﬂﬁ,d%ﬂﬁf@iﬂmﬁ#mm?
(A) ToErg & arg w i

(B) frds &) argl @ oo § wea &

(C) =R, dua @ @l & W § G @)

(D) o FeiR @ WU ¥ e il

172. aﬁmﬁa@tmﬁwﬁqﬁ—rﬁﬁﬂﬁﬁqﬁﬁmﬁﬁﬁw

(A) Yum (B) oL <ud

(C) wfda FHaRr ArE (D) <l smmew fraeda
W%ﬁm.aﬁ?mmﬁmaﬁmwm?

(A) EEEEE @ SEEE B A (B) ‘Trda FEIN ¥ oo B aR

(C) dwd wd & qail A (D) & a€ 3T T B TPH T A9
ﬁﬁﬁaﬁqmmwﬂtﬁmmt?

(A) TTH TS VBT E (B) ¥ 3w gl

(€ g ue o9 Vel B (D) | &9 & 2
ﬂﬁﬁaﬂﬁﬂﬁ~ﬁ?ﬂﬁﬂﬁﬁ#mﬂﬁm?ﬁg—

(A) orem + FEE (B) Rl + 30U () amf + @ (D) HET + S

freim o= @1 gui arer Rder e & -
(A) W= (B) TR — &TH (C) TR -F=R (D) Tt — ey

'aﬁﬁ#ﬁ%-— . ;
(A) éﬁﬁgﬁ‘n (B) W WY (C) o wfY (D) et &
Y W= & %3 | ,

(A) SIS (B) shefe 19 () iR ™) PRI

HeAIT TR H WA @~
(A) WG AGEY  (B) ome ey (C) WA wqey (D) RERET TR
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— i e L Y SR TR ST ) ).

180. 'S B FEA qErR 1 aref g ¥ —

181. ez%ﬂ &E—"mm@g q,-m;ﬁ;gg _:q;: :2 :";:ﬁ: (D) TR TR
182. ‘TGS U, ¥ GWW ¥ — N (D) B IS
T gy
184. WA W& FT YRS Y & —
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